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(@)yz?Xx @ y=2xx-1 @y:x+3

@yzgxx ® x+y=24
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e #A=

y=[ Jxxy+x=[__ JBelm=2
DO y=17xx(Axd)

@ y=2xx-1 (FHHx g obd)

® y=xs3, y =3 xx (FuI2)

@y =2 xx (BueN)
® x+y=24, y=24—x (FHH = vha] = obd)
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® x+y=4 (@)y:2><x ® xxy=2
@ y=1=+x @yzgxx

D
Al TA=

y:\:lxx, y+x:|:’?‘21°]_‘3_§

O x+y=4, y=4-x (BH= T gHH] = ofH)
@ y=2xx (A4

@ xxy=2, y=2=+x (FH])

@ y=1+x (5te]E)
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e oM y 71 x ol FulEshe A& A=A L.

® xxy=5 (@)y:x+2
@ y=4-x ®y=2xx+3

B

e AL A (= Jxx)
@ xxy =5 (5te]E)
@y=x=+2, y:%xx(@‘ﬂ]iq])

® xxy="7 (5te]E)
@ y=4-x (ZHHE g = ofd)
®y=2xx+3 (AU X g = o}d)
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® 02:03=4:7

® 7:9=07:19
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@D 2x2x3.14 x4 = 50.24( cm?)

@ 1.5x1.5x3.14 x 5 = 35.325(cm?)
® 2x2x3.14 x5 = 62.8(cm?)

@ 2x2x3.14x3 = 37.68(cm?)

® 2.5%x2.5x3.14 x 3 = 58.875(cm?)
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@D 2x2x3.14x6 = 75.36( cm?)
@ 3x3x%x3.14x 3 =84.78(cm?)
® 6x6x6=216(cm?)

@ 3t 22 o] AolE[ |em 2} 5HH
|:|x|:|x6:54,|:’x|:’:9,|:’:3

whabA BuE 3 x3x 3 = 27(cm?) YUt

® ¥ o] 1tz E0] 31.4 =+ 3.14 + 2 = 5(cm)

o|BZ2 Hulk 5x5x3.14 x 3 =235.5(cm®) YUt}




@ 1x1x3.14x5=15.7(cm?)
@ 2x2x3.14 x4 = 50.24(cm?)
®2x2x3.14x5 = 62.8(cm?)
@ 2x2x3.14x6 =175.36(cm?)
® 3x3x3.14x2 = 56.52(cm?)




